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C. Solve all question according to

Note: There are three Scctions in the question paper A, B, '& =i
instruction given in each Scction, Mark of each questions are speciiiec.
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wug—H(Section — A)
TH WU 10 TETRASRARNARS [TRawed @ Ry v 02 sfefetiRad |

Ten Question are compulsory to answer in this section. Each question carry 02 marks.
TE 0. T AR JEamiomraiog |

Distinguish between Call-In-ars ears and call-in-advance.

weT 02,95 W AiRRagueiaRaifg |

Distinguish between capital reserve and reserve capital.
UET 03. MU WA @ A & amfaiew |
Write the name of methods of resumption of debentures.
e 04, RINaETIRRAiGaRiTg 37
What is meant by deferred tax assets?
TE 05, ITHMHGHIITIT THIAR?
What is meant by Liquidator?
WY 06. HWATTRIIE?
What is Super profit?
TE 07. FRAHISTGHBIIRAN & sRriaEny aF TEAgE D)

Give the formula for calculation of goodwill by Capitalisation of super profit method.
HE 08. I B ARG T TOR-T AT 7
What is meant by ‘Intrinsic value and Market value’?
TTF 09. WINIY YUY XY RIS |
Explain the normal rate of return,
TE 10, ERNRGARERIR G I PENS?
What is transferor and Transferee Company?
T 1. A B IARGGARHRIGUrARgde?
What is meant by internal reconstruction of a company?
V¥ 12. 3 PHHIGEER B ARSI |
Give four example of inter-company transactions.

T 13, NGRS eEH TRy 22

What is meant by holding and subsiding company?
T 14T B o0 AT vameare @ Wi
Explain bills for collection and Cash credit,

T 15, R~ rrRETER?
What is the non-banking assets?
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Wug—~q(Section - B)
79 @EERE 05 TyAsAERAA A (T D fm. JMax™ 06 Wﬁaﬂl
Five Qucsﬁons are compulsory to answer in this section. Lach question carry 06 marks.
rvo1. wRARwEnRRmanay 8?2 FudTrauaTs?
What is meant by security premium? What are its us'es?
q¥02. ST O N |
Distinguish between a debenture and shares.
Yr0s. e @ YT a4 B9 D AR TR B 7 SRafore |
Differentiate between amalgamation in the nature of merger and nature of purchase.
Tes, S IRRuURATERT AR RrmisiRegafiafosrams g |
State the circumstances in which internal reconstruction becomes necessary.
TEH0s. e qeaiea ) JRamRRY B wwed )
Explain the super profit method of valuation of goodwill.
TT06. JRSTRT T AT D TIP7a] THAEY |
Explain the valuation of right-share and bonus share.
TEEH07. FUHARE @ sRriayaiReReeRIGEe g |
Describe preferential creditors according to the companies act.

Gus—(Section ~ C)

T AUSAGA 02 TEEAFIARNARIE [NAPHeT & forg ifdras 15 iwfaiRes |
Two question are compulsory to answer in this section. Each question carry 15 marks.

01, BIAARTTT 2013 B JTAR (P T & RISSHIARINTG Tawega Mie 3
HagHATEAr AT |
Give a specimen form of Balance sheet of a company according to companies act. 2013
and explain cach main head in brief.

T¥102. TIRGIURIRTEHRIT [FHeTRIiaTaRd 9 fhi-fhaaial warm |-y |

Define goodwill. What factors should be kept in mind at the time of valuation of
goodwill?

903, fFAFfaRaacRIRTH @ aTwWs JRHIAY :

1. TE 1005, A 6000 9% FU-TA WL WrriRuRRrmtsiRgTer ey
GRFEATSITS |

2 UG 100, U 6000 7% HUNH WHE WRERMRRATRsRgT@r  wee
10%NfragREarenan |

3 UAT 100%. AT 4000 6% HVIGH 8% R b aiRg Tt NIRER L
WREMATE |

4, VAT 100%,. aArA3500 9% FUIH 8% BT Rafr RNy
s raRerfaararTd |

5. WAT 100%. UIAI5000 0% HIH 0% @R RSN T
RErTE | ) !

Pass the necessary journal entrics the following cases :
1. 6,000, 9% Debentures of Rs, 100 each red

2. 3.000‘. 7% Debentures of Rs, 100 each are issued at par and redeemable at 10%
premium,

3. 4,000, 6% Debentures of Rs. 100 e .
' . ach have be o
redeemable at par, en issued at 6% discount and are

cemable at par.
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4. 3.500, 9% Debentures of Rs. 100 cach are issued at 6% discount and are redeemable at
5% premium.

5. 5,000,9% Debentures of Rs. 100 each are issued at 10% premium and are redeemable

e

- atpar
qE04. U ST 2013 MR Y o P YRerpRTHITGN (FRam TRl @ fmd 6T 3%

awmmnﬁzﬁvﬂamvﬂ?mmﬁm%n IFrRIREB AT BV wfEted
1 1 SHE 2013 DB 2 Refafremmrel
gt @) RefoRes Mk 700000%.

I 12600,

AR ([ ARTAAT 840030 wfgd) 95200%.
7000,6% ) 5 30%, T (RN WY @ qUTeT iR 2) 2,10000%.

14000 THARIIRT 10, PHUADI 0%, TIPS | 1,26,000%.
TRT WO 168000%., T8I T .
T @ unfeeft @ agﬂﬂq;ﬁmmmﬁﬂhﬁwmﬂ CiRUREILYNIN]
FTED AETNEEARR 1 /3 ARTITEFATIIRBR IFRRHHTIfID T frexee=d |
Vicky shoes Itd. Went into voluntary liquidation on 1% Jan. 2013 the liquidator is
on sale of assets and 2% on amount

to be paid remuneration at 3% on the amount realised
distributed to shareholders. The liquidator hold out the assets of the company on 1% Jan.
2013 companies’ position was as under —
Cash realised on sale of assets 700000/-
Liquidation expenses 12600/-
Creditors (including salaries for one month 8400/-) 95200/-
7000,6% preference shares of Rs. 30 each (on which dividend
is an arrear for one year) 2,10,000/-
14000 Equity share of Rs. 10 each Rs. 9 per share called and paid 1,26,000/-
| General reserve Rs. 168000, profit and loss A/C 28,000/-
. Under article of association of the company preference sharcholder have a right to
\ receive 173" of the surplus remaining after repaying the equity share capital Prepare
Liquidators Final statement of Account,
Y05, 31 W 2017 WY U o7 B YRS 48 DR WAA AW 0T IROGHR (P gy D R
200000%. FTARAT RIE [Tt F snifeRefenme! TrE dEay sagma | 9 @ dRAgs.

WRTR 20000%, ATTAEI | 2016—17 B WRIHATS B §F 7E DIPAHER ~ fR@RA?

. 2017—18 & THNET 31 AR 2017 T B FTA WU W WAH 75 ISRBAT

IR AR ETIRY 2017—18 B - o geaeHarasas 9o

gfaftedf g aur wrktarBR |

While closing the books of a bank on 31% march 2017 you find in the loan ledger an.

unsecu;ed balance of Rs. 200000 in the account of a merchant whose financial condition is

;ep?rte to you as a bad and doubtful, Interest an the same account amounted Rs. 20000

uring tli)xe year. How would you deal with this item to interest in 2016-17 accounts?

tebrd uring thc:l year 2017-18 bank accepts 75 paise in the rupee on account of the total

ue up to 31% March 2017, Give Journals entries to record these transactions and also

prepare the necessary accounts showi . A
SFdoconnts. owing the ultimate effect of the transaction in the books
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%‘ Note: Thete are 3 Section in the question paper AB& C Solve all question according (o

{nstruction given in ench section, Marks 0

{ enoh quostions nre ;x|)c<:ll1gg.'__. B
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There are 12 questions in this section. Attempt any 10 questions carles 02 marks ——
]! (word limit 30) (10x )
|

1 c iR W s ey RN

i Give a suitable definition of statistics.

| w2 W R AR |

! mention three difterent between primary and secondary data.

|‘ Ts- WIRTERICTOIR TR?
I What is weighted Harmonie mean?
‘ T4 ORI THERE?

What do you understand by percentile?

ns  TAGREEERISTIRI WEE?
What do you understand by Standard Deviation?

e T 3 aROTSRIE o |
Explain the concept of skewess
w7-  WRNEERE TIR?
What is rank correlation?
w8 WATTHRENRTRIAE?
Why are there tow regression lines?
no- frvRemedifiwiemR?
What is Fisher’s IdetIndex ?
w0~ @ Aol Ry Y STUFRIEMET |
State the utility of time series analysis.
- ATEREGEIAETRIRRIE?
What is meant by business forecasting

Wi2- AT PIARY |

State Bernoulli theorem,

WoE—q / Section-B

’iﬂ oA sl @ SwRRT

ttempt any 05 questions in this section (word limit 60

AT |31.‘3|E‘1'05‘R‘§3i5ﬂﬂ 0T SRR | ) Oue=
Find out the missing size from the following,

s@(Marks) 10 X

s o 15 20 X I W
(No. of Students): 3 6 8 10 7 6
fead: afem(X Yatw= 24.5

\ Given :(X)=24.5

o — e feme
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: 4 its cocfTicient for the following data.

&l .
Find standard deviation an
20 20-30 30-40 40-50 50-60 60-70 70-80

0-10 10
(Age in gﬁear.s)
No. of person) : 15 15 23 22 25 10 5 10
|
fficient of skewness.

[ C
e following data find out the Karl Pearson’s cO¢

From th

£ 1 S 10 11 12 13 14 15
(Measuremcnt)

amgfaa

(No. of person) | 2 4 10 8 5 1

SRR X TY @ Sy oTERASIo | )
Find out the coefficient of correlation between X and Y by the method of razr;t differences.
' 27

X: 22 24 27 35 21 20
Y: 30 38 40 50 38 25 38 36 41 32

a$qwmm€£fml

wraET PR} WEEIRIEY SAAoal
Explain the meaning of correclation, distinguish between positive and negative correlation.
o @ - 7
¢ What is the probability that

Four cards are drawn successively at random without replacemen

four will be Aces.
qﬁaﬁﬁmﬁﬁawbmégﬂﬁwwmmmmmwmms%mmﬁﬂ

o Swie & -
Construct the cost of living index number by using family Budget method for the year 1995

with 1990 as base year from the following data:-

— |
I
g EE] ":a—rﬁ TR (9.)
(Commodity) (Quantity in units) (Price per unit (in Rs)

| 1990 1990 1995 ‘
A 50 6 10
B 100 2 2
C 60 4 6 |
D 30 10 12 |
E 60 8 12|

¥ue—4 / Section-C
frRmeE & IR
Solve any 02questions:
(2x15=30)
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W3-

Ha-

Gi)  PucmReRTR™I
(iii) TR T APH THoNaaRe |

The probability that a man will be alive fo
be alive for 25 years 2/3. Find the probability that:

0] Only wife will be alive
(i)  Only man will be alive
(iii) At least one of them will be alive

r 25 years in 3/5 and the probability that his wife will

ArEieuRefea®Horg |
Given the following data calculate quantity index numbers using fisher’s formula:-
ES A
(Items) (Base Year) (Current Year)
e HTE T A
(Price) (quantity) (Price) (quantity)

A 5 50 10 56
B 3 100 4 120
C 4 60 6 60
D 11 30 14 24
E 7 40 10 36

TRRikTdory & FrefaRaaaroeritad edeady  qUieakag  FenuRomaR ool
DIIT— :

Calculate Karl Pearson’s coefficient of i i
Coloulate Karl Pearson’ correlatnon between the ages of husbands and wives and

aRraremg 20 25 30 35 4
(Age of Husband) 0 45 50 55 60 65 70
Tl @Y

(Ageofwife): 17 24 28 32 35 38 42 51 56 60 62
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: yErR T aRETAITY R @

Ac: T U D A Gt o, 9, W@ W I S @

ApffEee | . ing to
Note: There are 3 Section in the question paper A,B& C Sol}'e all qucstloirtl~1 ggcordmg

instruction given in each section. Marks of cach questions are Spec :

[US—3 / Section-A
WA W W30 .

Very short answer type questions. Word limit - 30

&2 10 U B IRRARIT, TRAGHET 02 FP@TE |

Attempt any 10 questions, all questions carry 02 marks.
W1~ S SRRy @r?

What is M.B.O. ?
F2- IRIGRUGIR?

What is Centralisation?
w3  FEeE @ e

Define Planning.
H4-  lvmiRe dre SRy 27

What is meant by “formal organisation”?
U5 A @Y qSaRmei e, daviimaane?

What is PERT and C.P.M. technique of control?
ne-  URIdTIGHETEaR?

What is process of change?
T7-  SEUEIRGERRIGIRITY 87

What is meant by informal communication?
U8-  WHGU BIVG BRI AT ?

Why Co-ordination is deemed as essence of management?
Te-  URIY E@aRARGSIRg )

Define the word “Delegation”,
Ti0- ﬁmmw ﬁﬁ?ﬁ?l'g 7 b w9 Wi |
] “Advertisement is an investment and not an expenditure” Comment,

1= [

Define Corporate planning,
S12-  fiet grRmRarfagyy 29 SRR Ry R e
o What are :gterpersonal roles of manager propounded by Minzberg?

What is decision- making?
A= ERRRRR & Righr Sy 27
- What 1S meant by “Thc great men theory”?

:ﬁﬂwna‘» Y9, T, Srefigin @ YT eEmRiRaT |
ame the proponent of the XY,z theory of motivation,
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ey west e -6 '
.",’I'fmt answer type questions, Word limit - 60

fsdaimpaat o wmredifg, un‘mms}w’im}mrt ‘l( y
Attempt any 05 questions, all questions carry 06 marks.

theher b wwreroflgion el |

Haplain the sealar chaln principle QI l’uyol,_
anarealem g writmto) Wi ) |

Explain the traditional and modern method of control.

ety wamt 4 mptaogA | . t

Explain functions of financial management, o '
'Mr’h aravftinfgasiaermant @ wxmaon o Rrggiom AT |
Expluin “Need-Hicrarchy theory” Propounded by Maslow. i
fdasdianans qusitd? (s ) denfamufdar 4 faduaarfag |

pra—

———————

5 . ientific decision-
What do you understund by decision-making? Discuss the process of scientifi

making,

fiiarndausian #7 an Premresmmd? L
What I meant by Departmentation? Of how many types is it?
“sim e mradunfarmongmmbgsaafianed ¢ gumaa
Writagmneifon |

# puafagiel @

“Authority can be delegated but not Responsibly.” Examine this statement in the light of

ity principles,

avE-¥ / Section-C

idun ywr
Long answer type questions,

fwstalutt o weodifon, weamyrnsdaimb |
Attempt any 02 questions, all questions carry 15 marks,

Wt o iyl syt |

Explain the scope snd nature of management,
“ymmaftnfagfsy IYeger afy fafirsy ettt |
Define leadership, Deseribe brictly the various g
Ay wftciBotrafaey Hydy REEETLIER )
What are the forces whic shall affect management in future?
Pt uf e thntyong lewdmfimge o mn g |

Define plmming. Explain its nature, importance and limitations,
’mrmt?zu’mnzmwxmrrrmmrmh g |

Esxplain line-staff and functional organisation,

yles of leadership.
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!\‘ot.ez All quest.ions are compulsory. Instructions for each question are given Separately. Marks are
indicated. Against each question.

Q.1 Answer in Short any five of the following questions. {5X4=20)

I. Write a brief summary of the poem ‘Three years She Grew’ by William Wordsworth.
Il. Do you feel that ending of the story ‘Death of a clerk’ is proper? If not what sort f end you
would consider proper?
ll.  How was the king prevented again and again from ascending the throne?
V. Who was Rana Pratap? Why he living in the fool hills of the Aravali mountains?
V.  How has communication education revolutionized the world?
VI.  What s the Condition of Indian Women? How can we solve their Problems?
VIl.  Whatis privatization? How for is it related to Globalization?
VIIl.  What-Steps have been taken in India to promote privatization?
IX. Whatis the Significance of the British Consultation paper in Cannection with India ?
X.  Who was Vikramaditya? Why was Vikramaditya Known as the greatest judge of India ?

Q. 2 Read the passage carefully and answer the questions given below: {5X2=10)

Labour is the condition which god has imposed upon us in every station of life. There is nothing
worth having that can be had without it, form the bread which the peasant wins with the sweat of brow
to the sports by which the rich man tries to shake off his lethargy. As for knowledge, it can no more be
planted n the human mind without labour than a field of wheat can be produced without the previous
use of the plough. There is, indeed, this great difference, that chance or circumstance may so cause it
that another shall reap what the former sow; but no man can be deprived whether by accident or
misfortune of the fruits of his own studies; and libral and extended acquisitions of knowledge which the

makes are all for his own use:

Question:

I, What has been imposed upon us by God?
il.  Canvyou achieve anything without-labour?
. How can Knowledge be acquired?
V.  Whatis the importance of labour?

V.  Give a suitable title to the passage.

0.3. Write an essay on anyone of the following topics: (1X10=10)

1. Environmental Pollution.
. Corruption in Public Life,
1. Religion and Politics.



Q.4 Write o précls of the following passage and suggaest a Sultable title for it: |)§ 10 = l 0

Educatlon is a complicated process. Not only teacher, but so many other agencies also play
important roles In educating the young boys and girls, We are all aware of the inflluence of the cinema
on the immature minds of the children How quickly they Imlitate the ways of dressing, walking and
talking of their favorite stars. The television to has galned popularity and Is not behind in placing its
impact on children. Varlous other public activities like elections and meetings of political parties also go
a long way in forming the mental and moral standards. Thus, | present times; teacher is not the sole
agency of education. Besides, education Is not free from the trend of commercialization of every stage.

Q.5 Do as directed any twenty of the following: (20X1=20)

1) Fillin the blanks using ‘some’ or ‘any’ plus a suitable noun:
i) Canlhave.......... in my tea? | don't like it black.
i) 1would Like...............about the hotels In and around Bhopal, Please.
i) Karan has gone the the bank to get
2) Supply the Correct form of the verb given in the brackets:
iv}) This Scissors (1S/are) blunt; give me another.
v) The news at last (give/gives) ground for a better future.
vi) The Jury (is/are) expected to return their verdict later this week.
vii) Weather (Change/Changes) all the time.
3) Supply‘if’ or ‘unless’ in the following sentences, noticing carefully the tense Sequence:

viil) She would not have waited...................... you had been late.

ix} He would not speak Hindi.........cecuvrrevenieveenenes he comes to India.

X)  5esseiziviesssiaetisistisiasinnssisanes you ring the bell, the servant won’t come.

xi} He'll come....weverrennne if you send him the invitation for the party.
4) Fill in the blanks with suitable prepositions:

Xii} He is being kept.....ccoercecuenne. police custody.

Xiii) He was accused.........c..murder.

xiv) There is a boom..........cceeerrennn.CONSUMEr products.

xv} The accused was absolved..........ccecuns all blame.

5) Change the Voice of the following Sentences:
xvi)  You must iron this dress for tonight.
xviij  People generally assume that money brings happiness.
xviii)  The lion was caught in a trap.
Xix) Did the teacher punish you?
6) Put the following Sentences into reported speech:
xx) Are there any ripe mangoes in the shop?
xxi) Eat up your dinner at once or | will punish you.
xxil) What a dlirty shirt you are wearing|
7) Fillin the blanks with missing relative:
xxiii) 1 know a man...............eats raw Vegetables.
xxiv)  The book........ce.n. you lent me is not Very interesting.
xxv)  1am looking for somebody........cirenns | can trust.



Q.6 o.Provide Synonyms of the following words (any four}: 4

Warrior, Greed, Clever, Secret, enough, discourse.
b. Provide antonyms of the following words {any three): 3
Precious, timid, sorrow , just, wild
c. Make nouns from the following adjectives (any three). 3
Strong, gentle, great, tender, poor




